

Section 3 - Functii numerice

Exersice of: 10 P

Partea I

1.  $f(x) = g(x) \Leftrightarrow x^2 + 2x + 3 = x + 5 \Leftrightarrow x^2 + x - 2 = 0 \quad \Delta = 1 - 4 = -3 < 0$  3P  
 pt  $x = -2 \Rightarrow g(-2) = -2 + 5 = 3 \Rightarrow A(-2, 3) \in g_f \cap g_g$  3P  
 pt  $x = 1 \Rightarrow g(1) = 1 + 5 = 6 \Rightarrow A(1, 6) \in g_f \cap g_g$  3P  
 $S = \{A(-2, 3), B(1, 6)\}$  1P

2.  $f(x) = x^2 - 2 \cdot 1 + 4 = 3 \Rightarrow A(1, 3) \in g_f$  10P

3.  $f(x) = x + 1$   
 $f \circ f(x) = f(f(x)) = f(x + 1) = x + 1 + 1 = x + 2$  3P  
 $f \circ f \circ f(x) = f(f \circ f(x)) = f(x + 2) = x + 2 + 1 = x + 3$  3P  
 Ecuația devine  $x + 3 = 3 \Rightarrow x = 0 \in D_f = \mathbb{R}$  4P

Partea II

1. a)  $f \circ f(1) = f(f(1)) = f(2 \cdot 1 + 1) = 2 \cdot (2 \cdot 1 + 1) + 1 = 7$  1P

b)  $\sum_{k=1}^{100} f(k) = \sum_{k=1}^{100} (2k+1) = 2 \sum_{k=1}^{100} k + 100 = 2 \cdot \frac{100(100+1)}{2} + 100 = 10200$  1P

2. a)  $f \circ g(1) = f(g(1)) = g(1) - 2 = (2-1) - 2 = -1$  4P

b)  $\sum_{k=1}^{100} [(f \circ g)(k)]^2 = \sum_{k=1}^{100} (-k)^2 = \sum_{k=1}^{100} k^2 = \frac{100(100+1)(201)}{6} = 338350$  2P

$f \circ g(k) = f(g(k)) = g(k) - 2 = (2-k) - 2 = -k$  5P

3. a)  $\frac{x}{x^2 + 3x + 2} \quad x_v = \frac{-b}{2a} = -\frac{3}{2}$  5P

$\Rightarrow g: \mathbb{R} \rightarrow \mathbb{R}, g(x) = x^2 + 3x + 2 \nearrow \mathbb{R} \left[-\frac{3}{2}, \infty\right)$

Cum  $f = g|_{[0, \infty)}$  și  $[0, \infty) \subset \left[-\frac{3}{2}, \infty\right) \Rightarrow f \nearrow$  deci mono 5P

b)  $f \nearrow \mathbb{R} [0, \infty) \Rightarrow f([0, 4]) = [f(0), f(4)] = [2, 30]$  5P

Section 3 - Functii numerice. Proprietati (I)

Apofundare 0f 10p

Partea I

1.  $f(1) = g(1) \Leftrightarrow 1^2 + 2 \cdot 1 + 3 = 1 + a \Leftrightarrow \boxed{a=5}$  10p

2.  $A(1,3) \in \mathcal{G}_f \stackrel{5p}{=} f(1) = 3 \Rightarrow 1^2 - m \cdot 1 + 2m = 3 \Rightarrow \boxed{m=2}$  5p

3.  $f \circ f(x) = f(f(x)) = f(x+1) = (x+1)+1 = x+2$  3p

$f^2(x) = (f(x))^2 = (x+1)^2 = x^2 + 2x + 1$  3p

Ecuație derivă:

$x^2 + 2x + 1 = x + 2 \Leftrightarrow x^2 + x - 1 = 0 \Leftrightarrow x = \frac{-1 \pm \sqrt{5}}{2}$  3p

$S = \left\{ \frac{-1 \pm \sqrt{5}}{2} \right\}$  1p

Partea II

1. a)  $f(x) = x^2 - 2x + 1 = 0$  3p

$(f \circ f)(1) \stackrel{3p}{=} f(f(1)) = f(0) = 0^2 - 2 \cdot 0 + 1 = 1$  4p

b)  $\sum_{k=1}^{100} f(k) = \sum_{k=1}^{100} (k^2 - 2k + 1) \stackrel{3p}{=} \sum_{k=1}^{100} k^2 - 2 \cdot \sum_{k=1}^{100} k + 100 =$

$\stackrel{6p}{=} \frac{100(100+1) \cdot (2 \cdot 100 + 1)}{6} - 2 \cdot \frac{100(100+1)}{2} + 100 =$

$= \frac{100 \cdot 101 \cdot 201}{6} - 10100 + 100 = 328350$  1p

2. a)  $g(1) = 2 \cdot 1 = 1$  3p

$(f \circ g)(1) \stackrel{3p}{=} f(g(1)) = f(1) = (1-1)^2 = 0$  4p

b)  $\sum_{k=1}^{100} (f \circ g)(k) = \sum_{k=1}^{100} k^2 - 2 \cdot k + 1 = 328350$  5p

$(f \circ g)(k) = f(g(k)) = (g(k)-1)^2 = (1-k)^2 = k^2 - 2k + 1$  5p

3. a)  $x+1 \nearrow$  pe  $[0, \infty) \Rightarrow \frac{1}{x+1} \searrow$  pe  $[0, \infty)$  10p

b)  $f \searrow$  pe  $[0, \infty) \Rightarrow f([0, 4]) \stackrel{5p}{=} (f(4), f(0)) = \left(\frac{1}{5}, 1\right)$  5p